
   USER'S MANUAL

ASSEMBLY INSTRUCTIONS



1/15

ASSEMBLY INSTRUCTIONS



2/15

1

6-1

21

7

7

2

3

5

22

22

4

10

9

19

8

20

20

11

10
21

8

6-2

6-2

6-1

23

26

25

27

20

11

11

19

11

20

12-1

16

15

17

18

14

13

14

16

15

17

18

14

13

14

23

ASSEMBLY INSTRUCTIONS

12-2



3/15

PARTS LIST

1

1pc

2

1pc

3

1pc

4

1pc

5

1pc

6-1

2pcs

6-2

2pcs

7

2pcs

8

2pcs

9

1pc

10

10pcs

11

4pcs

ASSEMBLY INSTRUCTIONS



PARTS LIST
12-1

1pc

12-2

2pcs

18

2pcs

20

2pcs

19 21

2pcs

22

20pcs 4pcs

14

4pcs

17

8pcs

15

2pcs

16

2pcs

24

2pcs

26

1pc

27

1pc

2pcs

23

1pc

28

4/15

25

2pcs

ASSEMBLY INSTRUCTIONS

1pc

13



5/15

A

 M8x30

Hardware list

6pcs

 M6x40  M8x20

 M6x10  M8x55

 Ø3x10  M6x15

B

14pcs

C

D

8pcs

E

8pcs

F

10pcs

G H I

10pcs2pcs 2pcs

 M6x15

ASSEMBLY INSTRUCTIONS

 M5x30

6pcs

M5 allen key

J

1pc

M3 allen key

K

1pc



6/15

ASSEMBLY INSTRUCTIONS

3

7

7

B

B

B

7

1

3

1

2

1
G

26

3

G

26

3

1

5

B

B

B
1

7

7

7

D D D D

1

5

D

5

3

B

B

 M6 x 40mm         X4pcs

B
 Ø3 x 10mm          X2pcs

G

 M5 allen key

J

 M5 allen key

J
 M6 x 40mm         X4pcs

B
 M6 x 10mm         X8pcs

D



7/15

ASSEMBLY INSTRUCTIONS

3

22
22

1

3

FF

F F

F

1

F

3

 M5 x 30mm         X4pcs

F

 M3 allen key

K



8/15

5

4

LED strip

Plastic

Unplug the battery separator of the
remote control before use

2

B

B

B

2

27

26

26

ASSEMBLY INSTRUCTIONS

F F

1

F

 M6 x 40mm         X2pcs

B

 M5 allen key

J

 M3 allen key

K
 M5 x 30mm         X2pcs

F



9/15

7

6

A

A

11

11

19

 x2

21

6-1

6-2

E

E

6-1

6-2

21

E

6-1

6-2

21

ASSEMBLY INSTRUCTIONS

 M5 allen key

J
 M8 x 55mm         X4pcs

E

 M5 allen key

J
 M8 x 30mm         X4pcs

A



10/15

8

9

C

7

C

6-2

C

6-2

6-1

E

9

21

A

219
E

A

21

E

19

E

9

ASSEMBLY INSTRUCTIONS

 M8 x 20mm         X4pcs

C

 M5 allen key

J

 M5 allen key

J
 M8 x 55mm         X2pcs

E
 M8 x 30mm         X2pcs

A



11/15

10

11

8

8
B

B

B

B

6-2

6-1

6-2

6-1

B

E

20

8

E
8

20

20

8
E

11

11

11

E

20

20

E

11

11

ASSEMBLY INSTRUCTIONS

 M5 allen key

J
 M8 x 55mm         X4pcs

E

 M5 allen key

J
 M6 x 40mm         X4pcs

B



12/15

10

10

12

13

4

6-2

C

C

4

C

ASSEMBLY INSTRUCTIONS

 M8 x 20mm         X4pcs

C

 M5 allen key

J



13/15

14
1

2

3

4

18

14

14

18

18

18

18

18

16

15

13

15

A B

14

17
13

a:

b:

C

1516

The plastic buckle is locked on the wire as shown, and
rotating the plastic backle to lock upper buckle on the wire.

The plastic buckle is placed
between the two wires as
shown.

The plastic buckle
rotates into wires

Y
Z

Lock the buckle (Y) on the wire
first, and rotating the plastic
buckle to lock two buckles (Z) on
the wires.

ASSEMBLY INSTRUCTIONS



14/15

15

16

Put the G screws into the hole
and press it into the bottom of the
"     " hole.

H

ASSEMBLY INSTRUCTIONS

 M5 allen key

J
 M6 x 15mm         X2pcs

H

 M6 x 15mm       X10pcs

I

I

12-1

H
I

I

I

12-2

H

I

I

I

24



Installation Complete

15/15

23

ASSEMBLY INSTRUCTIONS


	图纸和视图
	305K-1
	305K-2
	305K-3
	305K-4
	305K-5
	305K-6
	305K-7
	305K-8
	305K-9
	305K-10
	305K-11
	305K-12
	305K-13
	305K-14
	305K-15
	305K-16


